Lesson 43

The * grammar’ lesson continues:
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43.1 ‘Say what you will...’

fiftE-oThH,




This is another idiomatic phrase meaning ‘say what you will’ or a rather vague

‘well you know’. Observe the following examples:

MEE->TH, VA AF—FTAI v FTTR,
Say what you will, but Scotch is really the only whisky.

fifEE->TH, MEN—FRUI,
No matter what, good health is the most important thing.

43.2 Formsof 5.2 and [<

—FEHLVoIR, TRx5) & TBHZx2%) T,

Now that you have met potentials, passives and transitive/intransitive pairs,

observe the following forms of the two verbs .2 and [ <.

43.3 H.2
.%  transitive: ‘see” or ‘look at something’

XDIBHLLANT T AMEE BT,

Yesterday I saw an interesting French film.

H.Z2 % intransitive: ‘be visible’ or ‘appear to be’

HEZDELEOMIZAA TR ILRF Y v Y=nTT,
That mountain that is just visible between the clouds is Mt Kilimanjaro.

KD X IR ZETHICEWTT &,

It may look authentic but it’s a fake.

.2 % potential: "be able to see’
HITRNSIRRTFELRZDATT N, TOSANWEZ L TE T4,

Can you see such small characters? Very good eyesight, haven’t you!



Aoid (Aivd) ‘is possible to see’

NIl 2 LT LESTDOTRT LS TROBEITE L BIC
Rohiehoiz,

I did something really stupid and was so embarrassed that I couldn’t
bring myself to look my father straight in the face.

Z OBREEE TIXEOABNR LN ET,
They show old favourites in this cinema.

A3 5 passive : ‘be seen’

(FAIE) RECHOEHRBVWZLTWD EZAZ AL,
Mother found me picking at the food.

There are a number of problems here. Firstly, for teaching purposes, we have
created a distinction between J X % as an intransitive equivalent of .% and
.2 % as a potential form. Context will usually tell you which one you are
dealing with. Note that the intransitive .2 % can be seen as a durative verb
that can take the ~ T\ % form; it will then mean something like ‘being visible’.
The potential 5% %, on the other hand, is stative and so does not appear with
~ T 2. The second difficulty is that you will have to distinguish here between
two types of potentiality: ‘are you physically able to” as opposed to ‘is it possible
to’. This is a little awkward because both senses are rendered by ‘can’ in English.

43.4 [# < meaning ‘hear’
The situation with [ < is a little different, mainly because it has two distinct

meanings: ‘hear” and ‘ask’. Let us take them in turn:

[ < transitive: ‘hear’ or ‘listen to something’

WAMEFEELO THEAMTS L0 D) S b EZHVW,

I heard a rumour that he was going to give up his job and go abroad.

= 2 % intransitive: ‘be audible’, “‘sound’

FHRONEFRM I A TWDLRITE S bEBET EEA,
I really cannot relax as long as the child’s cries are still audible.



OKVEDOLSICHIZ Db LNLEREAN, ERICEZ 722 &7
DTH &
It may sound as if I made it up, but I assure you it really happened.

[l Z 2% potential: ‘be able to hear’ (physical ability)

Jok, IKHIXAEFA, bIDLRERFTEHLT RSN,
Please sir, I can’t hear you very well. Please talk a little louder.

[T % potential: ‘bear to listen’ (possibility)
BT DFEVT LI X £ A,

I can’t go on listening to your constant requests any longer.

7% passive: ‘be heard’
L XEEZE T,

Someone heard our private conversation.

43.5 [# < meaning ‘ask’

[l < transitive: “ask’ or ‘question someone’

FINZIZ 30 FHADSEMAFITE N T T IV,
I don’t know, so please ask an expert.

MF % potential: ‘be able to ask’

THIRTTIEDIRNT & ZSEAEICHIT 5 & BWET 0,
Do you really think I could ask the teacher such a silly question?

731 % passive: ‘be asked’

s TR 2 27z,

I was asked the time by someone in the market.



43.6 1T\ E720

SDIEEHNT 27D DOBNTHE EHA L,

This pattern, (ZiEX 72\ or (Zi X £+ A, means ‘nothing but...’

ZTNUNARICGEBERLNZ LTS RT-BHE I 0> TWDHATLE I,
You yourself must know very well that it is nothing but an excuse.
HAGEDR RS E\W\Wo T, M HERFENM & NN DITEE 720,
Well, I can speak Japanese, but all I can really manage is to understand

simple everyday conversation.

Note the use of 4 here. Clearly it can refer to something more than just the
present moment. You will sometimes find yourself translating it as ‘just now’:
4 ®% ‘What I just said was...’

43.7 ~7T + < (I2)

4 ORIl E KD T I

This pattern, where 9 <I{Z follows the ~T form of the verb, means ‘no

sooner than’ or ‘immediately upon’.

D UINERIKRROT, BSHICASTTSELIDH ) TH,

I have a touch of cold so I'll go to bed immediately after my bath.
ZHLODHERHRIZOBNPH I XL NS ZERFFHEEZRTT <
SN0 E LT,

As soon as I saw the picture I could tell that this person was your mother.



43.8 ~TUu 5 revisited

(2 IR, BEFEP D> TET L

We have already met the ~ T\ 2% form having either progressive or resultative
meaning, depending on the nature of the main verb. These transitive/
intransitive pairs provide further interesting examples of how the meaning of
~TW2 can differ according to context. The transitive verbs in these pairs are
usually durative in nature so that the ~ T\ % refers to an ongoing process.
The intransitive verb, on the other hand, is often punctual in nature so that ~T
W% refers to result.

RIS pMICEREZ T T &R,

(He) is telephoning Hasegawa.

BB S A DRERER N> TOET,

There is a telephone call for you from Mr Hasegawa.

F 2O TWET,
He is shutting the door.

SRITIZRAE o CWVET,
The bank is shut.

43.9 ~7TW5A versus ~ChH

(A TWD ] & TR TH 5 |

Refer back to 40.3 where you were introduced to the form ~Td» %. There it
was explained that ~T& % is usually only formed with transitive verbs and
signifies the state that has resulted from someone’s action. So how does this
differ from the intransitive equivalent with ~ TV % ? Observe the following:



(@  HIKE DT CL BIRDOENICITTHY £,

A landscape scroll has been hung in the alcove.

(b)  HIZKEIDO2 T U< BROEIC Do TOE T,
A landscape scroll is hanging in the alcove.

Both present situations are, of course, the result of an act of hanging a scroll
sometime in the past, but the nuances are quite different. Sentence (a) contains
the transitive verb and so carries with it a certain emphasis on the act of hanging
that resulted in the present state; (b) on the other hand contains the intransitive
verb and is devoid of any sense that someone has physically placed the scroll on
the alcove; it is just ‘there’.

43.10 Transitive/intransitive pairs
The following is a list of the commonest pairs. Do not try to learn all of these
immediately, but rather use the list as a reference.
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Key to conversation

Romanisation

Jon Nan to itte mo, ichiban muzukashii no wa ‘mieru’ to ‘kikoeru’ desu ne. ‘Mieru’ to
iu no wa kano mo arawasu shi jidoshi no hataraki mo arun desu ne.

Tadashi So desu. Me no kensa no toki, o-isha-san ga ‘miemasu ka’ to iimasu ne.
Keredomo kono doshi o jidoshi toshite tsukau baai ni wa ‘Fujisan ga miete iru’ to
ka ‘Jon-san wa Amerikajin ni mieru’ to iu koto ga dekimasu.

Jon Watakushi wa Amerikajin ni wa miemasen yo.

Tadashi Iya iya, ima no wa bunpd o setsumei suru tame no rei ni sugimasen yo.
Bokokugo to iu no wa fudan ishiki shinaide tsukatte iru no de ki ga tsukimasen
ga, koshite aratamete kangaete miru to muzukashii mono desu ne.

Jon So nan desu yo. Jidoshi to tadoshi ga wakatta to omotte mo, sore ga “te iru’
no katachi de tsukawareru toki ni wa tomadou koto ga arimasu.

Tadashi Tatoeba donna toki desu ka?

Jon Ima no byoin de hatarakihajimete sugu ni ‘Sumisu sensei, o-denwa ga
kakattemasu yo’ to kangofu-san ni iwaretan desu. Hakkiri imi ga wakaru made
jikan ga kakarimashita ne.

Tadashi Sore wa tashika ni muzukashii desu ne.

Jon Sore kara ‘kaki o narabete iru’ to ‘kaki ga narande iru’ no chigai wa yatto wakaru

y0 ni narimashita ga, ato no ho no ‘kaki ga narande iru’ to ‘kaki ga narabete aru’
no chigai wa ima de mo hakkiri shinain desu kedo.

Tadashi Komatta na. Nan da ka boku mo wakaranaku natte kite shimatta.




Translation

John

Tadashi

John
Tadashi

John

Tadashi

John

Tadashi
John

Tadashi

Say what you will, but the most difficult verbs are ‘mieru’ and ‘kikoeru’. ‘Mieru’
expresses the potential and also works as an intransitive, doesn’t it?

Yes. When testing your eyesight, the doctor will say ‘miemasu ka?” But when you
use this verb as an an intransitive verb, you can say ‘Fujisan ga miete iru’ or ‘Jon
san wa Amerikajin ni mieru.’

I don’t look like an American!

No, no! That was just an example to explain the grammar. You normally use your
own native language unconsciously, but when you look at it anew like this it is
difficult, isn’t it?

Indeed it is.  had thought I understood intransitives and transitives, but there are
times when I still get confused when they are used in the “te iru’ form.

For instance?

Very soon after I started working in my present hospital a nurse said to me
‘Sumisu sensei, o-denwa ga kakattemasu yo.” It took me some time before I really
understood what she meant.

Yes, that is difficult isn’t it?

And then, I now just about understand the difference between ‘kaki o narabete
iru” and ‘kaki ga narande iru’, but I'm still unclear about the difference between
the latter phrase ‘kaki ga narande iru’ and ‘kai ga narabete aru’.

Oh dear! I feel completely at sea now!




